www.matematicamente.it Esercizi sulle derivate

Calcola le seguenti derivate con logaritmi ed esponenziali

1. y=3*+2Ilnx
2
y' =D() = D(3¥) + 2D(Inx) = 3*In3 + —
2. y=2e*—-3lnx—5x
3
y' = D(y) = 2D(e*) — 3D(Inx) — 5D(x) = 2e* — - 5
3. y=e*—2lnx+3

y' = D(y) = D(e¥) — 2D(Inx) + D(3) = &* _%

X

! 1 x € x-3
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5. y=2c‘osx—%lnx+x2
1 _ 1
y' =D(y) = 2D(cosx) — §D(lnx) + D(x?) = —2sinx ~ 3 + 2x

6. y=2a*+5

y' = D(y) = 2D(a*) + D(5) = 2a*Ina

1-3senx
7. y=2lnx—-3y= 2
= Dy) = D(1 —3senx)x* — (1 — 3senx)D(x*)\ _ —3x*cosx — (1 — 3senx)(2x)
y =rw= (x2)2 - x4
—3x%cosx — 2x + 6xsenx  x(—3xcosx — 2 + 6senx) —3xcosx — 2 + 6senx
x+cosx
8. y= senx
, D(x + cosx) - senx — (x + cosx) - D(senx) (1 — senx)senx — cosx(x + cosx)
y'=D()= > = >
sen?x sen?x
_ senx — sen’x — xcosx — cos>x _ senx — xcosx — (sen’x + cos® x)
- sen?x B sen?x
senx — xcosx — 1

- sen?x

9. y=x*

Iny = In(x*) - Iny = xlnx

D(Ilny) = D(xlnx)
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10. y = (senx)™*

Iny =
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1
;y’ = xD(Inx) + InxD(x)

1 x

-y =—+Inx
y x

L 1+1
-y = nx
y

y' =yA+ Inx) = x*(1 + Inx)

ln(senxl”x) - Iny = Inx In(senx)

D(Ilny) = D[lnx - In(senx)]

1
;y’ = D(Inx) - In(senx) + D[In(senx)] - Inx

y' =y

In(senx
In(senx) + Inx - cotgx] = (senx)"™*

1 , In(senx) cosx
-y =——F+Inx-

y X senx
1 , In(senx)

—y' = — + Inx - cotgx
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[ln(senx)

+ Inx - cotgx
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